10

45

45

45

129

93SNA



& 12
e 9
& 12
e %)
i
47
47
iii
93SNA
i
68SNA
10
2 93SNA
i
5
6
- 1
- 60
60

130

93SNA



Mijk — Mij 1« Bik Dik

2 K 12
Mi j 1 k Bik Dik
K 13

— Mij1 k1 Biji1xk Dij1k

K 2
Zik Dik K 1
44
5 5 61

93SNA

131

61



10

> ZWm

45

45
45
93SNA

132




45

45
93SNA
10 2
45
1
45
68SNA
93SNA
45

133

45

10

45

45



10

45

134




135




10 1

45

A.
1.
11 »
12 —3
13
14 11 12
2. — —
3.
s R
5.
6. 3
7.
71
72
8.
9.
10.
93
' 4 t-i+05
al a lix
i=t-L+1  i=t-L+1 m
t-L . .o t-L ) . il +
3 gi-&-iBi+Lg é gi-&-£8i+|_gx t- m L 0.5
i=t-m+1€ m 2 J  izt-mu€ m 2 4] L
t t .
- i+
é, Bi é, Bi x t-1+05
i=t- m+1 i=t- m+1 m
B L

136




47

CDA'O?B

12
a
, e
¢
e
45 47
61
62

137

60



10
45
1,
2
i
1 4 1 Bt ® L 1p ¢ 1 d
— ali — a d-"--"Bw: = gBi
L -
Mizpar M- Licema® m 20 50 Mgy
| B
45
45
93SNA 10 3

138



10

45

93SNA

139



n
si={ asij Pij Ja( 1+B i+y i+d i)x
i1
47
S = asi
i=1l

1j
1j
Bi

y i
O i

140

€ i



44 48

49 49 100

S i=(SA PA S8 Ps Sc Pc) (Si @' i+Si O’ i+Si 8 ' i)

47
S = As"i
i=1l

SA,SB,Sc

Pa,Ps,Pc

S= S W
. &
S=as

i=1

93SNA

141



Wi

SNA

142



45

50
51

143

93SNA



50

1

ax N r - S+

1+r) "1
Fn
50
2
6
9 15
12 9

144

37



20

10 11

12

13

145

10



IMF (SDR)

93SNA

146




IMF SDR

147



G pn qn pO qO
G
Ppe T
. t
de O Ce 1
t 0,1,2,3,4...
NG
NG r-n 1 pO qO rn1 2
re
RG G NG
o
pn qn pO qO a p'[dt rn
1
pn qn rn pO qO
1

148

GDE



93SNA

93SNA

149



